Math 241 - Quiz 2 - Tuesday, October 4

1. Let f(x,y) = sinxsiny.
(a) Find Vf(x,y). (1 point)

Your name here:

| Version 1 |
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(b) Find all critical points of f and use the second derivative test to identify their types.

(5 points)
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2. Use the method of Lagrange multipliers to find the closest point to P = (—3,1) on the
line 4x — 3y = 5. (4 points)




Math 241 - Quiz 2 - Tuesday, October 4

1. Let f(x,y) = cosxcosy.
(a) Find Vf(x,y). (1 point)

Your name here:

| Version 2 |

Vfi(xy) =

(b) Find all critical points of f and use the second derivative test to identify their types.

(5 points)
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Bertrand Guillou


Bertrand Guillou
Version 2


2. Use the method of Lagrange multipliers to find the closest point to P = (—3,1) on the
line 4x — 3y = —5. (4 points)




Math 241 - Quiz 2 - Tuesday, October 4

1. Let f(x,y) = cosxsiny.
(a) Find Vf(x,y). (1 point)

Your name here:

I Version 3

Vfi(xy) =

(b) Find all critical points of f and use the second derivative test to identify their types.

(5 points)
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Bertrand Guillou
Version 3


2. Use the method of Lagrange multipliers to find the closest point to P = (—3,1) on the
line 4x — 3y = —10. (4 points)




